



Navn: _____

Dato: _____ Score: _____

$$\frac{3}{4} - \frac{1}{6} \times \frac{1}{3} - \frac{1}{5} =$$

$$33 \times \frac{3}{5} \div 3 - \frac{1}{6} =$$

$$\frac{3}{5} - \frac{1}{6} - \frac{1}{4} \times \frac{1}{5} =$$

$$\frac{1}{4} + 15 \times \frac{1}{2} \div 3 =$$

$$\frac{2}{5} + \frac{1}{3} \times \frac{1}{3} - \frac{3}{4} =$$

$$\frac{1}{2} + 15 \times \frac{1}{2} \div 3 =$$

$$\frac{3}{4} - \frac{3}{2} - \frac{1}{6} \times \frac{1}{2} =$$

$$\frac{2}{5} + \frac{1}{2} + \frac{1}{3} \times \frac{1}{4} =$$

$$6 \times \frac{1}{2} \div 1 + \frac{1}{6} =$$

$$\frac{1}{4} + 15 \times \frac{1}{3} \div 3 =$$



Navn: _____

Dato: _____ Score: _____

$$\frac{3}{4} - \frac{1}{6} \times \frac{1}{3} - \frac{1}{5} = \frac{89}{180}$$

$$33 \times \frac{3}{5} \div 3 - \frac{1}{6} = \frac{193}{30} = 6\frac{13}{30}$$

$$\frac{3}{5} - \frac{1}{6} - \frac{1}{4} \times \frac{1}{5} = \frac{23}{60}$$

$$\frac{1}{4} + 15 \times \frac{1}{2} \div 3 = \frac{11}{4} = 2\frac{3}{4}$$

$$\frac{2}{5} + \frac{1}{3} \times \frac{1}{3} - \frac{3}{4} = \left(-\frac{43}{180}\right)$$

$$\frac{1}{2} + 15 \times \frac{1}{2} \div 3 = 3$$

$$\frac{3}{4} - \frac{3}{2} - \frac{1}{6} \times \frac{1}{2} = \left(-\frac{5}{6}\right)$$

$$\frac{2}{5} + \frac{1}{2} + \frac{1}{3} \times \frac{1}{4} = \frac{59}{60}$$

$$6 \times \frac{1}{2} \div 1 + \frac{1}{6} = \frac{19}{6} = 3\frac{1}{6}$$

$$\frac{1}{4} + 15 \times \frac{1}{3} \div 3 = \frac{23}{12} = 1\frac{11}{12}$$